
GHSS SERIES 
FULL FRAME GLOVE BOX HOLDER  

MOUNTING INSTRUCTIONS 
 
 

 

IMPORTANT! 
PLEASE READ THROUGH INSTRUCTIONS 

CAREFULLY BEFORE STARTING INSTALLATION. 
 

 
 
Unpacking 
Open the carton containing the glove box holder and the mounting hardware.  Remove all 
packing material.  You should have the following components: 
 

QTY PART NO. DESCRIPTION 

1 GH1SS, GH2SS, 
GH3SS 

GHSS SERIES FULL FRAME GLOVE BOX HOLDER 

2 6021-1513 S.S. SCW PAN HEAD, SHEET METAL #10x1.5, PHILIP DR 

2 6030-0500 ANCHOR, WALL PLUG FOR #10x1-1/2" SCREW, SOLID 
WALL ANCHOR AF6-1/4, FASTENAL #50945 

 
 
Tools Required 
 

� Drill  � 1/4 Drill Bit  � #1 Philip Screwdriver 
 
 
Installation 
 

1.  Determine the desired location and height of 
where the glove box holder is to be mounted. 

2.  Place the holder against the wall.  Insure it is 
level and mark the holes to use to mount the 
holder. 

3.  Remove the holder and drill two 1/4” diameter 
holes for the mounting wall anchors. 

4.  Insert the wall anchors in the wall until they are 
flush with the wall. 

5.  Insert the screws into the anchors and then 
tighten the screws until about a 1/8’ gap is 
between the screw head and the anchor. 

6.  Align the large end of the slotted holes in the 
holder over the screw heads and pull down to 
secure the holder to the wall. 

7.  The glove box holder is now ready for use. 
 
 
 
 

1 Box Mounting Dimensions 
 

8”
 

S
N

A
P

-O
N

 
C

L
IP

 



MOUNTING INSTRUCTIONS, Cont. 
 

2 Box Mounting Dimensions 
 
 
 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
3 Box Mounting Dimensions 
 

  
 
0903-M110-O1 Rev A  Printed in USA 
01/07   
 

6 
1/

2”
 

9 3/16” 

6 
1/

2”
 

15 3/16” 



GHSS SERIES 
FULL FRAME GLOVE BOX HOLDER  

MOUNTING INSTRUCTIONS 
 
 

 

IMPORTANT! 
PLEASE READ THROUGH INSTRUCTIONS 

CAREFULLY BEFORE STARTING INSTALLATION. 
 

 
 
Unpacking 
Open the carton containing the glove box holder and the mounting hardware.  Remove all 
packing material.  You should have the following components: 
 

QTY PART NO. DESCRIPTION 

1 GH1SS, GH2SS, 
GH3SS 

GHSS SERIES FULL FRAME GLOVE BOX HOLDER 

2 6021-1513 S.S. SCW PAN HEAD, SHEET METAL #10x1.5, PHILIP DR 

2 6030-0500 ANCHOR, WALL PLUG FOR #10x1-1/2" SCREW, SOLID 
WALL ANCHOR AF6-1/4, FASTENAL #50945 

 
 
Tools Required 
 

� Drill  � 1/4 Drill Bit  � #1 Philip Screwdriver 
 
 
Installation 
 

1.  Determine the desired location and height of 
where the glove box holder is to be mounted. 

2.  Place the holder against the wall.  Insure it is 
level and mark the holes to use to mount the 
holder. 

3.  Remove the holder and drill two 1/4” diameter 
holes for the mounting wall anchors. 

4.  Insert the wall anchors in the wall until they are 
flush with the wall. 

5.  Insert the screws into the anchors and then 
tighten the screws until about a 1/8’ gap is 
between the screw head and the anchor. 

6.  Align the large end of the slotted holes in the 
holder over the screw heads and pull down to 
secure the holder to the wall. 

7.  The glove box holder is now ready for use. 
 
 
 
 

1 Box Mounting Dimensions 
 

8”
 

S
N

A
P

-O
N

 
C

L
IP

 



MOUNTING INSTRUCTIONS, Cont. 
 

2 Box Mounting Dimensions 
 
 
 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
3 Box Mounting Dimensions 
 

  
 
0903-M110-O1 Rev A  Printed in USA 
01/07   
 

6 
1/

2”
 

9 3/16” 

6 
1/

2”
 

15 3/16” 



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveEPSInfo true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputCondition ()
  /PDFXRegistryName (http://www.color.org)
  /PDFXTrapped /Unknown

  /Description <<
    /FRA <>
    /JPN <FEFF3053306e8a2d5b9a306f30019ad889e350cf5ea6753b50cf3092542b308000200050004400460020658766f830924f5c62103059308b3068304d306b4f7f75283057307e30593002537052376642306e753b8cea3092670059279650306b4fdd306430533068304c3067304d307e305930023053306e8a2d5b9a30674f5c62103057305f00200050004400460020658766f8306f0020004100630072006f0062006100740020304a30883073002000520065006100640065007200200035002e003000204ee5964d30678868793a3067304d307e30593002>
    /DEU <>
    /PTB <>
    /DAN <>
    /NLD <>
    /ESP <>
    /SUO <>
    /ITA <>
    /NOR <>
    /SVE <>
    /ENU <>
  >>
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 936.000]
>> setpagedevice


